/// ====================================

/// = CLEANED ON 5-29-15 by PAUL GOREN =

/// ====================================

version 12.1

***cd "H:\My Documents\Paper-PID IDEO\PRQ"

***use "H:\My Documents\Paper-PID IDEO\PRQ\nes9297.dta", clear

cd "/Users/pchen/Dropbox/Research/Independent Research/Party ID and Ideology Paper/PRQ/"

use "/Users/pchen/Dropbox/Research/Independent Research/Party ID and Ideology Paper/PRQ/nes9297.dta", clear

/// ===================================================

/// = PART I: CODING OF ALL VARIABLES AND RELIABILITY =

/// = CALCULATIONS FOR OPERATIONAL IDEOLOGY AND PID   =                     =

/// ===================================================

/// COMPLEX SAMPLE VARIABLES

gen wt94=v940005

recode wt94 .=.i 0=.o 

label variable wt94 "94 panel weight"

label define wt94 .o "94 cross only" .i "inapp, no 94"

label value wt94 wt94

fre wt94

gen wt96=v960004 

recode wt96 .=.i 0=.o

label variable wt96 "96 panel weight"

label define wt96 .o "96 cross, no other panel" .i "inapp, no 96" 

label value wt96 wt96

fre wt96

generate stratum = floor(v960122/10)

generate clust = v960122- stratum*10

/// PID ALL YEARS

/// 1992 

fre v923634

recode v923634 7/8=3

gen pid92=v923634

replace pid92=.n if v923634==9

replace pid92=.i if v923634==.

label define PID 0 "Strong Democrat" 6 "Strong Republican" .i "inap, no 92" .n "NA"

label variable pid92 "Party ID 1992"

label value pid92 PID

fre pid92

/// 1994

fre v940655

recode v940655 7/8=3

gen pid94=v940655

replace pid94=.n if v940655==9

replace pid94=.i if wt94==.i

label define PID94 0 "Strong Democrat" 6 "Strong Republican" .i "inap, no 94" .n "NA"

label variable pid94 "Party ID 1994"

label value pid94 PID94

fre pid94

/// 1996

fre v960420

recode v960420 7/8=3

gen pid96=v960420

replace pid96=.n if v960420==9

replace pid96=.i if wt96==.i

label define PID96 0 "Strong Democrat" 6 "Strong Republican" .i "inap, no 96" .n "NA" 

label variable pid96 "Party ID 1996"

label value pid96 PID96

fre pid96

/// Wiley-Wiley model to get error variance estimates for pid indicators

/// note that missing values = 593 b/c we recoded DK/others as independents above

misstable patterns pid92 pid94 pid96, frequency

sem ///

 (Party92@1 -> pid92) ///

 (Party94@1 -> pid94) ///

 (Party96@1 -> pid96) ///  

 (Party92 -> Party94) ///

 (Party94 -> Party96), ///

  var(e.pid92@a e.pid94@a e.pid96@a)

estat eqgof

/// OPERATIONAL IDEOLOGY ALL YEARS

/// 1992 

fre v923726

gen wel92=v923726

recode wel92 1=0 2=.5 3/7=1 8/9=.

label define SPEND 0 "inc" 1 "dec"

label value wel92 SPEND

fre wel92

fre v923725

gen food92=v923725

recode food92 1=0 2=.5 3/7=1 8/9=.

label value food92 SPEND

fre food92

fre v923813

gen child92=v923813

recode child92 1=0 2=.5 3/7=1 8/9=.

label value child92 SPEND

fre child92

fre v923811

gen soc92=v923811

recode soc92 1=0 2=.5 3/7=1 8/9=.

label value soc92 SPEND

fre soc92

/// gov92

fre v923701

gen gov92=v923701

replace gov92=(1-(gov92-1)/6) 

replace gov92=. if v923701==0 |v923701==8 |v923701==9

label variable gov92 "gov services"

label define GOV 0 "provide more" 1 "provide less" 

label value gov92 GOV

fre gov92

/// opideo92

/// use polychoric correlations to calculate ordinal alpha

/// use egen to capture cases lost to missing data for ideomiss < 3

///polychoric wel92 food92 child92 soc92 gov92

display (5*.366)/(1+.366*4)

egen opideo92miss=rowmiss(wel92 food92 child92 soc92 gov92)

egen opideo92=rowmean(wel92 food92 child92 soc92 gov92) if opideo92miss<3

replace opideo92=opideo92*6

replace opideo92=.i if pid92==.i

label variable opideo92 "op ideo 92"

label define SPEND92 0 "inc" 6 "dec" .i "inap, no 92"

label value opideo92 SPEND92

fre opideo92miss opideo92

/// 1994

fre v940820

gen wel94=v940820

recode wel94 1=0 2=.5 3/7=1 8/9=.

label value wel94 SPEND

fre wel94

fre v940822

gen food94=v940822

recode food94 1=0 2=.5 3/7=1 8/9=.

label value food94 SPEND

fre food94

fre v940824

gen child94=v940824

recode child94 1=0 2=.5 3/7=1 8/9=.

label value child94 SPEND

fre child94

fre v940819

gen soc94=v940819

recode soc94 1=0 2=.5 3/7=1 8/9=.

label value soc94 SPEND

fre soc94

fre v940940

gen gov94=v940940

replace gov94=(1-(gov94-1)/6) 

replace gov94=. if v940940==0 | v940940==8 |v940940==9

label variable gov94 "gov services"

label value gov94 GOV

fre gov94

/// opideo94

/// use polychoric correlations to calculate ordinal alpha

/// use egen to capture cases lost to missing data for ideomiss < 3

/// polychoric wel94 food94 child94 soc94 gov94

display (5*.389)/(1+.389*4)

egen opideo94miss=rowmiss(wel94 food94 child94 soc94 gov94)

egen opideo94=rowmean(wel94 food94 child94 soc94 gov94) if opideo94miss<3

replace opideo94=opideo94*6

replace opideo94=.i if pid94==.i

label variable opideo94 "op ideo 94"

label define SPEND94 0 "inc" 6 "dec" .i "inap, no 94"

label value opideo94 SPEND94

fre opideo94miss opideo94

/// 1996

fre v960497

gen wel96=v960497

recode wel96 1=0 2=1 3=.5 7=1 8/9=.

label value wel96 SPEND

fre wel96

fre v960496

gen food96=v960496

recode food96 1=0 2=1 3=.5 7=1 8/9=.

label value food96 SPEND

fre food96

fre v960564

gen child96=v960564

recode child96 1=0 2=1 3=.5 7=1 8/9=.

label value child96 SPEND

fre child96

fre v960560

gen soc96=v960560

recode soc96 1=0 2=1 3=.5 7=1 8/9=.

label value soc96 SPEND

fre soc96

fre v960450

gen gov96=v960450

replace gov96=(1-(gov96-1)/6) 

replace gov96=. if v960450==0 |v960450==8 | v960450==9

label variable gov96 "gov services"

label value gov96 GOV

fre gov96

/// opideo96

/// use egen to capture cases lost to missing data for ideomiss < 3

egen opideo96miss=rowmiss(wel96 food96 child96 soc96 gov96)

egen opideo96=rowmean(wel96 food96 child96 soc96 gov96) if opideo96miss<3

replace opideo96=opideo96*6

replace opideo96=.i if pid96==.i

label variable opideo96 "op ideo 96"

label define SPEND96 0 "inc" 6 "dec" .i "inap, no 96"

label value opideo96 SPEND96

fre opideo96miss opideo96

/// CONTROLS

/// sex

fre v924201

gen sex=v924201

recode sex 1=0 2=1 .=.i

label variable sex "female dummy"

label define sex 1 "F" 0 "M" .i "inap, no 92" 

label value sex sex 

fre sex

/// married

fre v941204

gen married94=v941204

recode married94 1=1 2/9=0 .=.i

label variable married94 "marriage dummy"

label define married94 1 "Married" 0 "other" .i "inap, no 94" 

label value married94 married94

fre married94

/// married

fre v960606

gen married96=v960606

recode married96 1=1 2/9=0 .=.i

label variable married96 "marriage dummy"

label define married96 1 "Married" 0 "other" .i "inap, no 94" 

label value married96 married96

fre married96

/// black

fre v924202

gen black=v924202

recode black 1=0 2=1 3/9=0 .=.i

label variable black "black dummy"

label define black 1 "black" 0 "non-black" .i "inap" .n "NA"

label value black black

fre black

/// college

fre v941209

gen college94=v941209

recode college94 6/7=1 0/5=0 98/99=0 .=.i

label define college94 1 "college grad" 0 "not" .i "inap, no 94"

label value college94 college94

fre college94

fre v960610

gen college96=v960610

recode college96 6/7=1 0/9=0 98/99=0 .=.i

label define college96 1 "college grad" 0 "not" .i "inap, no 96"

label value college96 college96

fre college96

/// south

fre v940011

gen south94=v940011

recode south94 .=.i 1/2=0 3=1 4=0 .=.i

label define south94 1 "lives south 94" 0 "not in south" .i "inapp, no 94"

label value south94 south94

fre south94

/// south

fre v960115

gen south96=v960115

recode south96 .=.i 1/2=0 3=1 4=0 .=.i

label define south96 1 "lives south 96" 0 "not in south" .i "inapp, no 96"

label value south96 south96

fre south96

/// =============================================================

/// = PART II: RUN OLS & EIV MODELS FOR TABLE 2 and APPENDIX B2 =

/// =============================================================

/// 1992-94 OLS and EIV estimates

/// use .863 from Wiley-Wiley model for PID

/// use .743 estimate from above for opideo

svyset v940064 [pw=wt94], strata(v940063) singleunit(certainty)

sum pid92 opideo92, d

svy: regress opideo94 pid92 opideo92 sex married94 black college94 south94 

estimates store a1 

margins, predict() at(pid92=(0(6)6)) post

estimates store b1

svy: regress pid94 pid92 opideo92 sex married94 black college94 south94

estimates store a2

margins, predict() at(opideo92=(.6(4.15)4.75)) post

estimates store b2

eivreg opideo94 pid92 opideo92 sex married94 black college94 south94, reliab(pid92 .863 opideo92 .743)

estimates store a3

margins, predict() at(pid92=(0(6)6)) post

estimates store b3

eivreg pid94 pid92 opideo92 sex married94 black college94 south94, reliab(pid92 .863 opideo92 .743)

estimates store a4

margins, predict() at(opideo92=(.6(4.15)4.75)) post

estimates store b4

esttab a1 a2 a3 a4 using "table2a.rtf", replace b(2) se(2) star(+ 0.10 * 0.05) r2(2) scalars(F)

esttab b1 b2 b3 b4 using "table2afirstdiff.rtf", replace

regress opideo94 pid92 opideo92 sex married94 black college94 south94 [pw=wt94], beta

estimates store c3

regress pid94 pid92 opideo92 sex married94 black college94 south94 [pw=wt94], beta

estimates store c4

/// 1994-96 OLS and EIV estimates

/// use .880 from Wiley-Wiley model for PID

/// use .761 estimate from above for opideo

svyset clust [pw=wt96], strata(stratum) singleunit(certainty)

sum pid94 opideo94, d

svy: regress opideo96 pid94 opideo94 sex married96 black college96 south96 

estimates store a1 

margins, predict() at(pid94=(0(6)6)) post

estimates store b1

svy: regress pid96 pid94 opideo94 sex married96 black college96 south96

estimates store a2

margins, predict() at(opideo94=(.75(4.25)5)) post

estimates store b2

eivreg opideo96 pid94 opideo94 sex married96 black college96 south96, reliab(pid94 .880 opideo94 .761)

estimates store a3

margins, predict() at(pid94=(0(6)6)) post

estimates store b3

eivreg pid96 pid94 opideo94 sex married96 black college96 south96, reliab(pid94 .880 opideo94 .761) 

estimates store a4

margins, predict() at(opideo94=(.75(4.25)5)) post

estimates store b4

esttab a1 a2 a3 a4 using "table2b.rtf", replace b(2) se(2) star(+ 0.10 * 0.05) r2(2) scalars(F)

esttab b1 b2 b3 b4 using "table2bfirstdiff.rtf", replace

regress opideo96 pid94 opideo94 sex married96 black college96 south96 [pw=wt96], beta

estimates store c5

regress pid96 pid94 opideo94 sex married96 black college96 south96 [pw=wt96], beta

estimates store c6

esttab c3 c4 c5 c6 using "beta2.rtf", replace beta(2)

/// ===========================================================================  

/// = PART III: RUN KNOWLEDGE INTERACTIONS FOR LOW V. HIGH KNOWLEDGE SUBJECTS =

/// = REPORT THESE RESUTLS IN APPENDIX B2 (KEY COEFFICIENTS ONLY). 


  =

/// ===========================================================================







/// we run these using interviewer rating of respondent's level of info

/// in earlier iterations found the same results using facutual political info

/// coding is simplier with interviewer rating, which is why we use this

/// reran the Wiley-Wiley models to get pid error variance for each group's 

/// 1994 respondent level of info

fre v941438

gen highlevel94=v941438

recode highlevel94 1/2=1 3/5=0 .=.i 9=.n

fre highlevel94

/// Wiley-Wiley model for highlevel==0

/// unconstrained model non-convergence 

/// var(Party96=0), meaning Party96 perfectly stable

/// all else converges, get meaningful reliability estimates 

/// pid92 = .845 & pid94 = .858

/// reran model w/varying constraints for var(Party96= .05 .15 .25)

/// model converges and gives similar reliability estimates for pid92 pid94

/// in light of this i use reliability estiamtes of .85 & .87

misstable patterns pid92 pid94 pid96 if highlevel94==0, frequency

sem ///

 (Party92@1 -> pid92) ///

 (Party94@1 -> pid94) ///

 (Party96@1 -> pid96) ///  

 (Party92 -> Party94) ///

 (Party94 -> Party96) if highlevel94==0, ///

  var(e.pid92@a e.pid94@a e.pid96@a) ///

  iterate(100) 

estat eqgof

/// Wiley-Wiley model for highlevel==1

misstable patterns pid92 pid94 pid96 if highlevel==1, frequency

sem ///

 (Party92@1 -> pid92) ///

 (Party94@1 -> pid94) ///

 (Party96@1 -> pid96) ///  

 (Party92 -> Party94) ///

 (Party94 -> Party96) if highlevel94==1, ///

  var(e.pid92@a e.pid94@a e.pid96@a)

estat eqgof

/// need to get reliability estimates for operational ideology

/// both samples in both years

polychoric wel92 food92 child92 soc92 gov92 if highlevel94==0

display (5*.321)/(1+.321*4)

polychoric wel92 food92 child92 soc92 gov92 if highlevel94==1

display (5*.445)/(1+.445*4)

polychoric wel94 food94 child94 soc94 gov94 if highlevel94==0

display (5*.324)/(1+.324*4)

polychoric wel94 food94 child94 soc94 gov94 if highlevel94==1

display (5*.431)/(1+.431*4)

/// 1992-94 OLS and EIV estimates

svyset v940064 [pw=wt94], strata(v940063) singleunit(certainty)

svy: regress opideo94 pid92 opideo92 sex married94 black college94 south94 if highlevel94==0

svy: regress opideo94 pid92 opideo92 sex married94 black college94 south94 if highlevel94==1

svy: regress pid94 pid92 opideo92 sex married94 black college94 south94 if highlevel94==0

svy: regress pid94 pid92 opideo92 sex married94 black college94 south94 if highlevel94==1

eivreg opideo94 pid92 opideo92 sex married94 black college94 south94 if highlevel94==0, reliab(pid92 .845 opideo92 .703)

eivreg opideo94 pid92 opideo92 sex married94 black college94 south94 if highlevel94==1, reliab(pid92 .925 opideo92 .800)

eivreg pid94 pid92 opideo92 sex married94 black college94 south94 if highlevel94==0, reliab(pid92 .845 opideo92 .703)

eivreg pid94 pid92 opideo92 sex married94 black college94 south94 if highlevel94==1, reliab(pid92 .925 opideo92 .800)

/// 1994-96 OLS and EIV estimates

svyset clust [pw=wt96], strata(stratum) singleunit(certainty)

svy: regress opideo96 pid94 opideo94 sex married96 black college96 south96 if highlevel94==0

svy: regress opideo96 pid94 opideo94 sex married96 black college96 south96 if highlevel94==1

svy: regress pid96 pid94 opideo94 sex married96 black college96 south96 if highlevel94==0

svy: regress pid96 pid94 opideo94 sex married96 black college96 south96 if highlevel94==1

eivreg opideo96 pid94 opideo94 sex married96 black college96 south96 if highlevel94==0, reliab(pid94 .858 opideo94 .706)

eivreg opideo96 pid94 opideo94 sex married96 black college96 south96 if highlevel94==1, reliab(pid94 .934 opideo94 .791)

eivreg pid96 pid94 opideo94 sex married96 black college96 south96 if highlevel94==0, reliab(pid94 .858 opideo94 .706)

eivreg pid96 pid94 opideo94 sex married96 black college96 south96 if highlevel94==1, reliab(pid94 .934 opideo94 .791)

/// ================================================================  

/// = PART IV: RUN WILEY-WILEY MODEL FOR OPERATIONAL IDEOLOGY.     =

/// = RELIABILITY ESIMATES HIGHLY SIMILAR TO ALPHA CALCULATIONS.   =

/// = REPORT THESE RESUTLS IN APPENDIX B2 (KEY COEFFICIENTS ONLY). =

/// ================================================================







misstable patterns opideo92 opideo94 opideo96, frequency

sem ///

 (IDEO92@1 -> opideo92) ///

 (IDEO94@1 -> opideo94) ///

 (IDEO96@1 -> opideo96) ///  

 (IDEO92 -> IDEO94) ///

 (IDEO94 -> IDEO96), ///

  var(e.opideo92@a e.opideo94@a e.opideo96@a)

estat eqgof

sem ///

 (PID92@1 -> pid92) ///

 (PID94@1 -> pid94) ///

 (PID96@1 -> pid96) ///

 (IDEO92@1 -> opideo92) ///

 (IDEO94@1 -> opideo94) ///

 (IDEO96@1 -> opideo96) ///  

 (IDEO92 PID92 -> IDEO94) ///

 (IDEO94 PID94 -> IDEO96) ///

 (IDEO92 PID92 -> PID94) ///

 (IDEO94 PID94 -> PID96), ///

 var(e.opideo92@a e.opideo94@a e.opideo96@a) ///

 var(e.pid92@a e.pid94@a e.pid96@a)

 estat eqgof

 /// ============================================================

 /// = PART V: RE-RUN MODELS INCLUDING AFFECTIVE FEELING THERM. =

 /// = FOR SOCIAL GROUPS.









=

 /// ============================================================

fre v925320 v925323 v925327

recode v925327 997/999=., gen(hispft92)

replace hispft92=hispft92/100

recode v925323 997/999=., gen(blackft92)

replace blackft92=blackft92/100

recode v925320 997/999=., gen(poorft92)

replace poorft92=poorft92/100

fre v940304 v940305 v940312

recode v940304 998/999=., gen(hispft94)

replace hispft94=hispft94/100

recode v940305 998/999=., gen(blackft94)

replace blackft94=blackft94/100

recode v940312 998/999=., gen(poorft94)

replace poorft94=poorft94/100

fre v961029 v961035 v961037

recode v961037 996/999=., gen(hispft96)

replace hispft96=hispft96/100

recode v961029 996/999=., gen(blackft96)

replace blackft96=blackft96/100

recode v961035 996/999=., gen(poorft96)

replace poorft96=poorft96/100

fre blackft* hispft* poorft*

fre blackft92 blackft94 blackft96

replace blackft92=blackft92*100

replace blackft94=blackft94*100

replace blackft96=blackft96*100

misstable patterns blackft92 blackft94 blackft96, frequency

sem ///

 (Black92@1 -> blackft92) ///

 (Black94@1 -> blackft94) ///

 (Black96@1 -> blackft96) ///  

 (Black92 -> Black94) ///

 (Black94 -> Black96), ///

  var(e.blackft92@a e.blackft94@a e.blackft96@a)

estat eqgof

fre hispft92 hispft94 hispft96

replace hispft92=hispft92*100

replace hispft94=hispft94*100

replace hispft96=hispft96*100

misstable patterns hispft92 hispft94 hispft96, frequency

*sem ///

 (Hisp92@1 -> hispft92) ///

 (Hisp94@1 -> hispft94) ///

 (Hisp96@1 -> hispft96) ///  

 (Hisp92 -> Hisp94) ///

 (Hisp94 -> Hisp96), ///

  var(e.hispft92@a e.hispft94@a e.hispft96@a)

*estat eqgof

fre poorft92 poorft94 poorft96

replace poorft92=poorft92*100

replace poorft94=poorft94*100

replace poorft96=poorft96*100

misstable patterns poorft92 poorft94 poorft96, frequency

sem ///

 (Poor92@1 -> poorft92) ///

 (Poor94@1 -> poorft94) ///

 (Poor96@1 -> poorft96) ///  

 (Poor92 -> Poor94) ///

 (Poor94 -> Poor96), ///

  var(e.poorft92@a e.poorft94@a e.poorft96@a)

estat eqgof

replace blackft92=(blackft92/100)*6

replace poorft92=(poorft92/100)*6

replace blackft94=(blackft94/100)*6

replace poorft94=(poorft94/100)*6

svyset v940064 [pw=wt94], strata(v940063) singleunit(certainty)

sum pid92 opideo92, d

svy: regress opideo94 pid92 opideo92 sex married94 black college94 south94 blackft92 poorft92

estimates store a1 

margins, predict() at(pid92=(0(6)6)) post

estimates store b1

svy: regress pid94 pid92 opideo92 sex married94 black college94 south94 blackft92 poorft92

estimates store a2

margins, predict() at(opideo92=(.6(4.15)4.75)) post

estimates store b2

eivreg opideo94 pid92 opideo92 sex married94 black college94 south94 blackft92 poorft92, reliab(pid92 .863 opideo92 .743 blackft92 .504 poorft92 .669)

estimates store a3

margins, predict() at(pid92=(0(6)6)) post

estimates store b3

eivreg pid94 pid92 opideo92 sex married94 black college94 south94 blackft92 poorft92, reliab(pid92 .863 opideo92 .743 blackft92 .504 poorft92 .669)

estimates store a4

margins, predict() at(opideo92=(.6(4.15)4.75)) post

estimates store b4

esttab a1 a2 a3 a4 using "table2aAFFECT.rtf", replace b(2) se(2) star(+ 0.10 * 0.05) r2(2) scalars(F)

esttab b1 b2 b3 b4 using "table2afirstdiffAFFECT.rtf", replace

svyset clust [pw=wt96], strata(stratum) singleunit(certainty)

sum pid94 opideo94, d

svy: regress opideo96 pid94 opideo94 sex married96 black college96 south96 blackft94 poorft94

estimates store a1 

margins, predict() at(pid94=(0(6)6)) post

estimates store b1

svy: regress pid96 pid94 opideo94 sex married96 black college96 south96 blackft94 poorft94

estimates store a2

margins, predict() at(opideo94=(.75(4.25)5)) post

estimates store b2

eivreg opideo96 pid94 opideo94 sex married96 black college96 south96 blackft94 poorft94, reliab(pid94 .880 opideo94 .761 blackft94 .564 poorft94 .641)

estimates store a3

margins, predict() at(pid94=(0(6)6)) post

estimates store b3

eivreg pid96 pid94 opideo94 sex married96 black college96 south96 blackft94 poorft94, reliab(pid94 .880 opideo94 .761 blackft94 .564 poorft94 .641) 

estimates store a4

margins, predict() at(opideo94=(.75(4.25)5)) post

estimates store b4

esttab a1 a2 a3 a4 using "table2bAFFECT.rtf", replace b(2) se(2) star(+ 0.10 * 0.05) r2(2) scalars(F)

esttab b1 b2 b3 b4 using "table2bfirstdiffAFFECT.rtf", replace

/// ============================================================

/// = PART VI: RE-RUN MODELS WITH EQUAL OPPORTUNITY ITEMS IN   =

/// = THE MODELS.
   
      







   =

/// ============================================================

fre v926024 v926025 v926026 v926027 v926028 v926029

recode v926024 0=. 5=1 4=2 2=4 1=5 8/9=., gen(eo1)

recode v926025 0=. 8/9=., gen(eo2)

recode v926026 0=. 8/9=., gen(eo3)

recode v926027 0=. 8/9=., gen(eo4)

recode v926028 0=. 5=1 4=2 2=4 1=5 8/9=., gen(eo5)

recode v926029 0=. 5=1 4=2 2=4 1=5 8/9=., gen(eo6)

gen equalopp92=(eo1+eo2+eo3+eo4+eo5+eo6-6)/24

fre equalopp92

fre v940914 v940915 v940916 v940917 v940918 v940919

recode v940914 0=. 5=1 4=2 2=4 1=5 8/9=., gen(eo13)

recode v940915 0=. 8/9=., gen(eo14)

recode v940916 0=. 5=1 4=2 2=4 1=5 8/9=., gen(eo15)

recode v940917 0=. 8/9=., gen(eo16)

recode v940918 0=. 8/9=., gen(eo17)

recode v940919 0=. 5=1 4=2 2=4 1=5 8/9=., gen(eo18)

gen equalopp94=(eo13+eo14+eo15+eo16+eo17+eo18-6)/24

fre equalopp94

fre v961229 v961230 v961231 v961232 v961233 v961234

recode v961229 0=. 5=1 4=2 2=4 1=5 8/9=., gen(eo7)

recode v961230 0=. 8/9=., gen(eo8)

recode v961231 0=. 5=1 4=2 2=4 1=5 8/9=., gen(eo9)

recode v961232 0=. 8/9=., gen(eo10)

recode v961233 0=. 8/9=., gen(eo11)

recode v961234 0=. 5=1 4=2 2=4 1=5 8/9=., gen(eo12)

gen equalopp96=(eo7+eo8+eo9+eo10+eo11+eo12-6)/24

fre equalopp96

fre equalopp92 equalopp94 equalopp96

replace equalopp92=equalopp92*24

replace equalopp94=equalopp94*24

replace equalopp96=equalopp96*24

fre equalopp92 equalopp94 equalopp96

fre equalopp92 equalopp94 equalopp96

replace equalopp92=equalopp92/4

replace equalopp94=equalopp94/4

replace equalopp96=equalopp96/4

fre equalopp92 equalopp94 equalopp96

alpha eo1 eo2 eo3 eo4 eo5 eo6

alpha eo13 eo14 eo15 eo16 eo17 eo18

svyset v940064 [pw=wt94], strata(v940063) singleunit(certainty)

sum pid92 opideo92, d

svy: regress opideo94 pid92 opideo92 sex married94 black college94 south94 equalopp92

estimates store a1 

margins, predict() at(pid92=(0(6)6)) post

estimates store b1

svy: regress pid94 pid92 opideo92 sex married94 black college94 south94 equalopp92

estimates store a2

margins, predict() at(opideo92=(.6(4.15)4.75)) post

estimates store b2

eivreg opideo94 pid92 opideo92 sex married94 black college94 south94 equalopp92, reliab(pid92 .863 opideo92 .743 equalopp92 .7137)

estimates store a3

margins, predict() at(pid92=(0(6)6)) post

estimates store b3

eivreg pid94 pid92 opideo92 sex married94 black college94 south94 equalopp92, reliab(pid92 .863 opideo92 .743 equalopp92 .7137)

estimates store a4

margins, predict() at(opideo92=(.6(4.15)4.75)) post

estimates store b4

esttab a1 a2 a3 a4 using "table2aEQUAL.rtf", replace b(2) se(2) star(+ 0.10 * 0.05) r2(2) scalars(F)

esttab b1 b2 b3 b4 using "table2afirstdiffEQUAL.rtf", replace

svyset clust [pw=wt96], strata(stratum) singleunit(certainty)

sum pid94 opideo94, d

svy: regress opideo96 pid94 opideo94 sex married96 black college96 south96 equalopp94

estimates store a1 

margins, predict() at(pid94=(0(6)6)) post

estimates store b1

svy: regress pid96 pid94 opideo94 sex married96 black college96 south96 equalopp94

estimates store a2

margins, predict() at(opideo94=(.75(4.25)5)) post

estimates store b2

eivreg opideo96 pid94 opideo94 sex married96 black college96 south96 equalopp94, reliab(pid94 .880 opideo94 .761 equalopp94 .6603)

estimates store a3

margins, predict() at(pid94=(0(6)6)) post

estimates store b3

eivreg pid96 pid94 opideo94 sex married96 black college96 south96 equalopp94, reliab(pid94 .880 opideo94 .761 equalopp94 .6603) 

estimates store a4

margins, predict() at(opideo94=(.75(4.25)5)) post

estimates store b4

esttab a1 a2 a3 a4 using "table2bEQUAL.rtf", replace b(2) se(2) star(+ 0.10 * 0.05) r2(2) scalars(F)

esttab b1 b2 b3 b4 using "table2bfirstdiffEQUAL.rtf", replace

/// ===============================================================

/// = RE-RUN AS ORDERED LOGIT AND CREATE PREDICTED PROBABILITIES. =

/// ===============================================================

fre pid94

recode pid94 0/2=0 3=1 4/6=2, gen(pid94_3)

fre pid96

recode pid96 0/2=0 3=1 4/6=2, gen(pid96_3)

sum opideo92 opideo94

display 2.70-1.29

display 2.70+1.29

display 1.29*2

display 2.92-1.28

display 2.92+1.28

display 1.28*2

sum pid92 pid94

svyset v940064 [pw=wt94], strata(v940063) singleunit(certainty)

svy: ologit pid94_3 pid92 opideo92 sex married94 black college94 south94

prchange opideo92, x(sex=1 married94=1 black=0 college94=0 south94=0)

margins, predict(outcome(0)) at(opideo92=(.6(4.15)4.75) sex=1 married94=1 black=0 college94=0 south94=0) atmeans // 5-95

margins, predict(outcome(2)) at(opideo92=(.6(4.15)4.75) sex=1 married94=1 black=0 college94=0 south94=0) atmeans // 5-95

margins, predict(outcome(0)) at(opideo92=(1.41(2.58)3.99) sex=1 married94=1 black=0 college94=0 south94=0) atmeans // 2 sd 

margins, predict(outcome(2)) at(opideo92=(1.41(2.58)3.99) sex=1 married94=1 black=0 college94=0 south94=0) atmeans // 2 sd

svyset clust [pw=wt96], strata(stratum) singleunit(certainty)

svy: ologit pid96_3 pid94 opideo94 sex married96 black college96 south96

prchange opideo94, x(sex=1 married96=1 black=0 college96=0 south96=0)

margins, predict(outcome(0)) at(opideo94=(.75(4.25)5) sex=1 married96=1 black=0 college96=0 south96=0) atmeans // 5-95

margins, predict(outcome(2)) at(opideo94=(.75(4.25)5) sex=1 married96=1 black=0 college96=0 south96=0) atmeans // 5-95

margins, predict(outcome(0)) at(opideo94=(1.64(2.56)4.2) sex=1 married96=1 black=0 college96=0 south96=0) atmeans // 2 sd

margins, predict(outcome(2)) at(opideo94=(1.64(2.56)4.2) sex=1 married96=1 black=0 college96=0 south96=0) atmeans // 2 sd

/// ============================================================

/// = RE-RUN MODELS INCLUDING AFFECTIVE FEELING THERM. 

   =

/// = FOR SOCIAL GROUPS BY KNOWLEDGE AND EDUCATION 


   =

/// ============================================================

sem ///

 (Black92@1 -> blackft92) ///

 (Black94@1 -> blackft94) ///

 (Black96@1 -> blackft96) ///  

 (Black92 -> Black94) ///

 (Black94 -> Black96) if highlevel==0, ///

  var(e.blackft92@a e.blackft94@a e.blackft96@a) ///

  iterate(100)

estat eqgof //92=0.504 94=0.576

sem ///

 (Black92@1 -> blackft92) ///

 (Black94@1 -> blackft94) ///

 (Black96@1 -> blackft96) ///  

 (Black92 -> Black94) ///

 (Black94 -> Black96) if highlevel94==1, ///

  var(e.blackft92@a e.blackft94@a e.blackft96@a)

estat eqgof //92=0.598 94=0.600

sem ///

 (Poor92@1 -> poorft92) ///

 (Poor94@1 -> poorft94) ///

 (Poor96@1 -> poorft96) ///  

 (Poor92 -> Poor94) ///

 (Poor94 -> Poor96) if highlevel94==0, ///

  var(e.poorft92@a e.poorft94@a e.poorft96@a)

estat eqgof //92=0.690 94=0.673

sem ///

 (Poor92@1 -> poorft92) ///

 (Poor94@1 -> poorft94) ///

 (Poor96@1 -> poorft96) ///  

 (Poor92 -> Poor94) ///

 (Poor94 -> Poor96) if highlevel94==1, ///

  var(e.poorft92@a e.poorft94@a e.poorft96@a)

estat eqgof //92=0.629 94=0.577

replace blackft92=(blackft92/100)*6

replace poorft92=(poorft92/100)*6

replace blackft94=(blackft94/100)*6

replace poorft94=(poorft94/100)*6

svyset v940064 [pw=wt94], strata(v940063) singleunit(certainty)

sum pid92 opideo92, d

svy: regress opideo94 pid92 opideo92 sex married94 black college94 south94 blackft92 poorft92 if highlevel94==0

svy: regress pid94 pid92 opideo92 sex married94 black college94 south94 blackft92 poorft92 if highlevel94==0

svy: regress opideo94 pid92 opideo92 sex married94 black college94 south94 blackft92 poorft92 if highlevel94==1

svy: regress pid94 pid92 opideo92 sex married94 black college94 south94 blackft92 poorft92 if highlevel94==1

eivreg opideo94 pid92 opideo92 sex married94 black college94 south94 blackft92 poorft92 if highlevel94==0, reliab(pid92 .845 opideo92 .703 blackft92 .504 poorft92 .690)

eivreg pid94 pid92 opideo92 sex married94 black college94 south94 blackft92 poorft92 if highlevel94==0, reliab(pid92 .845 opideo92 .703 blackft92 .504 poorft92 .690)

eivreg opideo94 pid92 opideo92 sex married94 black college94 south94 blackft92 poorft92 if highlevel94==1, reliab(pid92 .925 opideo92 .800 blackft92 .598 poorft92 .629)

eivreg pid94 pid92 opideo92 sex married94 black college94 south94 blackft92 poorft92 if highlevel94==1, reliab(pid92 .925 opideo92 .800 blackft92 .598 poorft92 .629)

svyset clust [pw=wt96], strata(stratum) singleunit(certainty)

svy: regress opideo96 pid94 opideo94 sex married96 black college96 south96 blackft94 poorft94 if highlevel94==0

svy: regress pid96 pid94 opideo94 sex married96 black college96 south96 blackft94 poorft94 if highlevel94==0

svy: regress opideo96 pid94 opideo94 sex married96 black college96 south96 blackft94 poorft94 if highlevel94==1

svy: regress pid96 pid94 opideo94 sex married96 black college96 south96 blackft94 poorft94 if highlevel94==1

eivreg opideo96 pid94 opideo94 sex married96 black college96 south96 blackft94 poorft94 if highlevel94==0, reliab(pid94 .858 opideo94 .706 blackft94 .576 poorft94 .673)

eivreg pid96 pid94 opideo94 sex married96 black college96 south96 blackft94 poorft94 if highlevel94==0, reliab(pid94 .858 opideo94 .706 blackft94 .576 poorft94 .673) 

eivreg opideo96 pid94 opideo94 sex married96 black college96 south96 blackft94 poorft94 if highlevel94==1, reliab(pid94 .934 opideo94 .791 blackft94 .600 poorft94 .577)

eivreg pid96 pid94 opideo94 sex married96 black college96 south96 blackft94 poorft94 if highlevel94==1, reliab(pid94 .934 opideo94 .791 blackft94 .600 poorft94 .577)

alpha eo1 eo2 eo3 eo4 eo5 eo6 if highlevel94==0

alpha eo1 eo2 eo3 eo4 eo5 eo6 if highlevel94==1

alpha eo13 eo14 eo15 eo16 eo17 eo18 if highlevel94==0

alpha eo13 eo14 eo15 eo16 eo17 eo18 if highlevel94==1

svyset v940064 [pw=wt94], strata(v940063) singleunit(certainty)

svy: regress opideo94 pid92 opideo92 sex married94 black college94 south94 equalopp92 if highlevel94==0

svy: regress pid94 pid92 opideo92 sex married94 black college94 south94 equalopp92 if highlevel94==0

svy: regress opideo94 pid92 opideo92 sex married94 black college94 south94 equalopp92 if highlevel94==1

svy: regress pid94 pid92 opideo92 sex married94 black college94 south94 equalopp92 if highlevel94==1

eivreg opideo94 pid92 opideo92 sex married94 black college94 south94 equalopp92 if highlevel94==0, reliab(pid92 .845 opideo92 .703 equalopp92 .683)

eivreg pid94 pid92 opideo92 sex married94 black college94 south94 equalopp92 if highlevel94==0, reliab(pid92 .845 opideo92 .703 equalopp92 .683)

eivreg opideo94 pid92 opideo92 sex married94 black college94 south94 equalopp92 if highlevel94==1, reliab(pid92 .925 opideo92 .800 equalopp92 .770)

eivreg pid94 pid92 opideo92 sex married94 black college94 south94 equalopp92 if highlevel94==1, reliab(pid92 .925 opideo92 .800 equalopp92 .770)

svyset clust [pw=wt96], strata(stratum) singleunit(certainty)

svy: regress opideo96 pid94 opideo94 sex married96 black college96 south96 equalopp94 if highlevel94==0

svy: regress pid96 pid94 opideo94 sex married96 black college96 south96 equalopp94 if highlevel94==0

svy: regress opideo96 pid94 opideo94 sex married96 black college96 south96 equalopp94 if highlevel94==1

svy: regress pid96 pid94 opideo94 sex married96 black college96 south96 equalopp94 if highlevel94==1

eivreg opideo96 pid94 opideo94 sex married96 black college96 south96 equalopp94 if highlevel94==0, reliab(pid94 .858 opideo94 .706 equalopp94 .596)

eivreg pid96 pid94 opideo94 sex married96 black college96 south96 equalopp94 if highlevel94==0, reliab(pid94 .858 opideo94 .706 equalopp94 .596) 

eivreg opideo96 pid94 opideo94 sex married96 black college96 south96 equalopp94 if highlevel94==1, reliab(pid94 .934 opideo94 .791 equalopp94 .748)

eivreg pid96 pid94 opideo94 sex married96 black college96 south96 equalopp94 if highlevel94==1, reliab(pid94 .934 opideo94 .791 equalopp94 .748) 

/// =============================

/// = CALCULATE MISSING OP IDEO =

/// =============================

fre opideo92miss if v923726!=.

fre opideo94miss if v940820!=.

fre opideo96miss if v960497!=.

display (10+1+6)/1005 //1.69%

display (3+10+15)/1795 //1.56%

display (5+3+3)/1714 //0.64%

/// ==========================================================

/// = CALCULATE CORRELATION BETWEEN SYMBOLIC AND OPERATIONAL =

/// ==========================================================

fre v923509 v940839 v961269

gen syideo92=v923509

recode syideo92 0=. 8/9=.

replace syideo92=(syideo92-1)/6

gen syideo94=v940839

recode syideo94 0=. 8/9=.

replace syideo94=(syideo94-1)/6

gen syideo96=v961269

recode syideo96 0=. 8/9=.

replace syideo96=(syideo96-1)/6

fre syideo*

corr opideo92 syideo92 //0.3715

corr opideo94 syideo94 //0.3631

corr opideo96 syideo96 //0.4430
